EE/ACTS

CHETIK K FOREL A FO2ECE -, WER E N FOAgEd sk @GR
3K, i h E/F;

(@ I, E N F _ER A 25

(b) k& dimp E #74 E X T F IREL iC 8 [E - F;

© ARy 5K: [E: F] < oo. RZNTTIRY 7K
- REOT: W E/F 20T 5K, o € E, AL NEIN ag, a1, ..., ay €T,
15 ap + a1+ ... + apa”™ = 0, MFK o 2 F_ERARETT

(o) BT A RAEOTI, TR BIT;

(b) & C/Q EHMARETT

© HME: C/Q ERYEBIT
AREYTIK: W E/F OEERYIK, I E Rt F_ERAREOT, R E
A F AREE 7K

() HH 5K ARARE TR, TR 5K
BN W E/F 2K, o € B2 F _ERARETT, WA REZS
¢ : Flz] = E(f(z) — f(a). 74 p(x) € Fla], (15 Kerp = (p(z)). #
p(x) EHURECN 1, W p(z) ME—FHE, XFER p(z) $FRA o FIR/INE T
G

(@ p(a) = 0;

(b) p(x) /& Flz] HEYATTATT, FIZETT:

© # f(a) = 0,0 p(x)|f(=);
BV EL S S =Y A CNE
- W E/F, F/K 295K, T:
(@ B A [E: K] = [E: F][F: K]
b) E/K HERY 7k <E/F, F/K ¥ 2 AR5k,

YK W E/FRENTK o € E A F(o) R B F Ko B9/
I, FREN Y 5K A Fe) = {f()/9(a)|f(z), 9(z) € Fz], g(a) # 0};



10.

11.

12.

13.

14.

U E/F A3 o € B2 F _ERIAROE I F(o) = Flal, B [F(a) :
F] = o BN TG o8

ABRAERY 5K ¥ B/F ZEAY 5K, HAEARDTT a1, a2, .. 0 € E,
153 E = F(ar, a2, ..., o), WFK E 52 F B9AFRA S 5K

HE=F(o,....00), Hay, ..., AF _ERRECT, U E/F 24 RY 5K
1 B/F 2GRy 5K, W E/F 24 R4S 5%K;
W F/K2REP 5K, v 2 F_ERE0T, N u £ K _ B2 RE0T
w E/F, F/K 288 5K, N E/K 25 K <E/F,F/K $2 58"
5K;
ARECE P Xk K, 2R v g K (RN T s, HFH v 2 K
ERIRETT, WA v e K, BEAFR K AAREE 5

(@) AREA AL 1% F/K A 5K, 25 FooAREE A, H F/K 25

Pk, MFRF 2 K pAE



